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QUESTION 1

What must be added to an application before creating a Java External Service? 

A. Import the BPM Ul toolkit 

B. Import the BPM Java Toolkit 

C. Add the .jar file that contains the classes 

D. Add the .ear file that contains the classes 

Correct Answer: C 

 

QUESTION 2

The Web API provides operations that enable client applications to achieve which functionality? 

A. Query Coaches 

B. Search personal data 

C. Manage internal activities 

D. Query process instances and tasks 

Correct Answer: C 

 

QUESTION 3

What will happen when sequence flows evaluate to false in an inclusive gateway? 

A. The instance will never complete. 

B. The default sequence flow will be followed. 

C. A failed event will be created for the process instance. 

D. The gateway will wait for one of the sequence flows to become true. 

Correct Answer: B 

 

QUESTION 4

A shared object is passed by reference from a process to two different services. The process and services 

each contain a separate copy of the business object. When the first service completes, the shared object 

values are automatically persisted to the data store. 
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Which statement is true regarding the second service? 

A. When the second service starts, the shared object values are automatically loaded from the data store. 

B. When the second service starts, the shared object values still refers to the copy of the business object it received
from the process. 

C. When the second service starts, the shared object values have to be manually loaded from the data store. 

D. When the second service starts, the shared object values is passed by the process again. 

Correct Answer: D 

 

QUESTION 5

Which gateway can be used for a service flow where more than one path can be followed for a specific process
instance? 

A. Event Gateway 

B. Parallel Gateway 

C. Exclusive Gateway 

D. Decision Task Gateway 

Correct Answer: B 
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